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1. The number of unit cells present in one : At Boyle temperature
mole of NaCl crystal are ' . 1 Al
3;3 ! (1) a gas has high kinetic energy
(1) -6.023 x10 ; i
: (2) a.gas has very low entropy
2) 15 10%
@) Fee (3) PV =constant
3) 3.023x10%
®) : (4) PV’ = constant
(4) 1.000 x 10*
' The van der Waal's constant ‘b’ interms
9. A gas can be liquified by spplying of critical values of gas is
pressure below its ) V.
(1) Reduced temperature 3
(2) . Boyle temperature @ PV.
(3) Inversion temperature G 3V
[
(4) Critical temperature
' @ 2V,
3. The viscosity of a liquid
: ) ¥ q‘ . | Molar refraction of a substance
(1) 1increases with increase” in
temperature (1) increases with increase in
(2) decreases with increase in EmpEERbE. - _
temperature ' (2) decreases with increase in
(3) does not depend on temperature temperature
(4) may increase or decrease with (3) 1s independent of temperature
incHSaSA tembor IS (4) increases with increase in
temperature to some extent and
then decreases
4. The mean free path of a gas
(1) increases with increase in pressure o R ¢ dait
and temperature e specific rotation of an optically
; _ , B, active substance depends on
(2) decreases with increase in
pressure and temperature (1) concentration of the substance
(3) increases  with = increase in (2) concentration and temperature
temperature and decrease in ; _
pressure (3) wavelength of  light and
_ _ . concentration
(4) increases with decrease in _
temperature and increase in - (4) wavelength  of light and
pressure, ©  temperature
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(1) 6.0."23 x 10%

(2) 1.505x10%

(3) 3.023 x10%

(4 1.000 x 10%
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(3) PV=3803
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10.

11.

12,

(6)

In a zero order reaction the half life, ¢ %

of the reaction is related to the initial
concentration C, of the reactant as

(1) T% - CU
1
9 e
(2) Ty CQ
K
3 =
3) Py Ca
C
A . =il i
(4) ¥ Y% oK
The substance used as neutron
moderator in nuclear reactor is
(1) liquid nitrogen
(2) liquid hydrogen
(3) liquid ammonia
(4) heavy water

The main reason for the increase in the
rate ‘of the reaction due to increase in
temperature is

(1) the kinetic energy of the reactant
molecules increases

(2) number collidign molecules
increases '

(3) number of activated molecules
increases '

(4) the activation energy of the

reaction decreases

If the reaction rate is controlled by steric
factor, then the rate of the reaction is

(1) equal to the number of activated
molecules :

(2) less than the number of activated
molecules

(3) greater than the number of
activated molecules

(4) not related to the number of

activated molecules

13.

14.

15.

16.

GET IT ON
Google Play

LD/715

After studying a chemical reaction when
a graph is plotted between the reciprocal
of the concentration of the reactant at
different time intervals and time, a
straight line with positive slope 1is
obtained. The order of this reaction is

(1) 0.5
(2 1.0
3) 2.0
(4) 0.0

In isothermal expansion of an ideal gas,
the interval energy of the gas

(1) remains constant

(2) decreases

(3) increases- Z
(4) - becomes zero

During adiabatic expansion ofa gas, the
temperature of the gas decreases due to

(1) decrease in pressure

(2) decrease in the velocity of the
molecules

(3) loss in the interval energy of the
gas

(4) loss in the entropy of the gas

Vant Hoff's reaction isotherm is

(1) AG=-RTInK,

@ K, s

AH
3) ImK=e-—
@ Ink=g-=
4 K=Ae™®
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18.

19,

20.

24

(8)
The entropy of the universé
(1) 1is constant
(2) is increasing
(3) 1is decreasing
(4) 1s fluctuating
The heat caplacity of a gas depends on
(1) - atomicity of the gas |
(2) rms velocity of the gas
(8) wiscosity of the gas
(4) volume of the gas
The éfﬁciency of a carnot engine
working between 100°C and 20°C is
(1) 0.80
(2) 048
@) 021
(4 0.78
During expansion of an ideal gas, for a
given volume char;ge the change in
pressure in an adiabatic process is
in an isothermal process.
(1) equal to that .
(2) exactly h:—.ﬂf that of
(3) smaller than
(4) larger than

21'

22,

23.
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In an adiabatic process the relation
between temperature and volume is

(1) TV7 =constant
(2) TV?!=constant
(8) TV =constant
(4) TVY" =constant

Joule-Thomson coefficient is

oP
1 —
515,
oP
® (),
ST
2} il
® (%),
Jv\
@ (%
Condensation of water vapour is
accompanied by
(1) decrease in entropy
' (2) increase in entropy
(3) no change in entropy
(4) either increase or decrease in

entropy
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2
3
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25.

26.

27.

247

(10)

The variation of vapour pressure of a
liquid with temperature is given by

(1)  Kirchoff's equation

(2)  Arrhenius equation

(3) Clausius-Clapeyron equation
(4) Nernst equation

Entropy change in isothermal expansion
of one mole of ideal gas is equal to

P
1y BPla-2
(1) nP

1

%
2 ~RTIn=-2
(2) Wi

1

P

3 BEh==
(3) npl
i P
4 —Rin=-=
4 np1

law  of
mol of the

Einstein’s
0.01

According to
photochemistry
substance absorbs

(1) one Einstein of light energy

(2) 6.023x10* quanta of light energy
(3) 6.023x10* of - light
energy

(4)  6.023 x 10* quanta of light energy

quanta

During intersystem
photoprocess

crossing in a

(1) spin of the electron is conserved
(2) spin of the electron is reversed
(3) energy is absorbed by the electron

(4) energy is released by the electron

28.

29,

30.
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In a photoprocess during internal
conversion

(1) heat is liberated
(2) radiation is emitted
(3) electron spin is reversed

(4) heat is absorbed

An enzyme enhances the rate of the
reaction by

(1) increasing the number of collisions
between the reactants

(2) decreasing the activation energy of
the reaction

(3) increasing the velocity of the
reacting molecules

(4) providing energy to the reacting
molecules '

Adsorption is an procéss.
(1) 1isoentropic
(2) endothermic

(3) exothermic

(4) adiabatic
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31.

32.

33.

34.

Geometry of methyl radical is

(1) planar

(2) tetrahedral

(3) ° pyramidal

(4)  trigonal bipyramidal

The relative stabilities *of different

conformations of ethane are in the order

(1) eclipsed > skew > staggered
(@) skew > eclipsed > staggered
(3) staggered > skew > eclipsed
(4) eclipsed > staggered > skew

The relative stabilities of methyl,
1sopropyl and tertiary butyl radicals are
in the following order : ;

(1) -CH, >(CH,), CH > (CH,), €
2 . (CH,),C >(CH,), CH> CH,
3 (CH,),CH >CH, > (CH,), C

@ CH, >(CcH,), C>(CH,), CH

The most basic compound among the
following is

(1) (CH,),NH
@ (CH,),N
(3) CH,NH,
@ (CH,), NH

(12)

35.

36.

37.

38.
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Formation of cinnamic acid when
benzaldehyde is heated with acetic
anhydride in the presence of sodium
acetate is known as

(1)
@)
(3)
(4)

Wurtz reaction
Perkin reaction
Reformatsky reaction -

Cannizaro reaction

Pyridine reacts with methyl iodide to
yield : ;

()
(@
(3)
(4)

2- methyl pyridine
3- methyl pyridine
4- methyl pyridine

n- methyl pyridinium iodide

Carbanion is the intermediate in the
following reaction.

D
@
3)

Reformatsky reaction
Pinacol-Pinacolone rearrangement

Aldol addition

(4) Fries rearrangement
Sodamide
Chlorobenzene —> Aniline
Ammonia

The intermediate in the above reaction is

(1) Carbanion

(2) Carbonium ion
(3) Benzyne

(4) Addition complex
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-CH, > (CH,), CH > (CH,), C
(CH,),¢ >(cH,), CH>-CH,
(CH,),CH >CH, >(CH,), €
CH, > (CH,), C > (CH,), CH

So 508 TRS° eBos 0fY 8 oFdw
Ko
(D
(€
(3)
(4)

(CeH,),NH
(CH,),N
CH,NH,
(CH,), NH

(13)
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39.

40.

41.

42.

The angle strain in cyclobutane is

(1) 0.75°

(2 5.25°
@) 9.75°
4) 24.75°

Formation of cyanohydrin from ketone is
an example of

(@))] .nuclleophj]ic substitution

(2) nucleophilic addition

(38) electrophilic Substitution
-(4) electrpphﬂic addition

Tetramethylsilane is used as reference

compound in the spectroscopy
to record the spectrum.

(1) ESR

(2) 'H-NMR

(3) C-NMR

(4) RAMAN

Among O, and O; ——— ESR signal. -
(1) both give

(2) only O, gives

(3) only O] gives

(4) both do not give

(14)

43.

44

45.

(3

46.
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The frequencies of vibration of C-C,
C =C and C = C bonds are in the order

() C-C >C=C>C=C
2 C=C >C=C>C-C
3 C€C-C>C=C>C=C
4@ €=C>C-C>€C=C
In a certain radioactive decay an

electron is emitted. It comes out from
8
(2)
(3)
(4)

the outer most orbit of the atom
the inner most orbit of the atom
the nucleus of the atom

the penultimate orbit of the atom

Most of the transition elements are

coloured either in crystalline form or in

solution while Zn?" is not coloured

because
(1)
(2)

Zn has higher atomic number
Zn has lower electrode potential
7Zn has higher atomi¢ mass '

Zn has no vacant d-orbitals

4

First ionization potential of Zn is greater
than Cu while
potential of Cu is greater than Zn
because

second ionization

(1) Zn has completely filled d-orbital
(2)  Zn has lower electrode potential
(3) Zn has of

maximum number
electrons :
In Cu second electron is removed
from completely filled d-orbital
while in Zn second electron is

(4)

removed from s-orbital
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39. pEa0gGoS” 5 (Dot 43. C-C, C=C, C=C wopo ¥o5%
{5 - 075° BERAERERISIN
(2) 5.25° ) C-~C>0=00=0C
x @ =l >C=03C-C
(=) 90 B) (-0 sB=bs0=0
(4) 24.75° @ C=C »C-Ls0=C
44. 28 BEDr TOY embos ok QO
40. 8% wod SaHSHrAS bduE B DS oG, o8 M0d
& i, e
' : (1) S8doee0 errssEy oc
(1) 3rBEBrHds 8Eses (2)  SE0eYH Bwy), esps %O &
@) BrERrDEE Sosesan S0
' (B) H8Io~e Sots¥o Hod
: (3) aotgj;’.aaé 8D (4)  DED0e droBy 8 5 20k
1) 9D Sosedan '
45. T 2By grio I8:I8Po darresten
9L 2BS"H B oo 28S° BorHd
, BesByron. 520 Zn* K ot B, B8
41. g S0 IS Brrdins oea :
NBSR [SIrEs0mT TS, (1) Zn By, 585578 Soa)g HES
1) ESR (2 Zn Bo¥); o wgmé BHEY,D
: (3) Zn BwE); S8 335073 )E0,
(2 'H-NMR
(4 Zn & gd d esByers) 8
(3) C-NMR
(4) RAMAN 46. 7Zn QDY) ©BF edbdits BAHS
Cu &y ) 570 Cu Bwg), AdAH
dDETE BIAHS Zn K K0S, 0
42. 0, 2802 0; o&° ESR Sty a50)58 50837
1 ek (1) Zn&® i’@"’gm R0&S d-esByerdman
(2 Zn Q¥ 0§ BYAS XS
(2) SEdeo O, 3) Zn @ﬁﬁgx}og%ﬁﬁ DO FRIERTHO0
4) Cu &° Bo&kd Josdy Fe8mr oD
(3) ¥deo O; g krrpirsim SR
d-esByer$ Zn & Bokd Do
(4) BotodT® AN s-es8yerS Sod FoRoSwthBoos
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47.

48.

49.

50.

Atomic volume of Cl is the
volume of C1*.

(1) equalto

(2) greater than Cl*

(?3) less than C1*

(4) - cannot be compared with

The dipole moment of BCl, is

(1) 08D
@ 12D
(3 18D
(4) 00D

Debye is equal to
(1) 107" esu
(2) 107 esu
(3). 107 esu
(4) 10" esu

Bright violet colour of KMnO, is due to
(1) o—¢' transition

(2) charge i‘l,ransfer transition

(3)' ‘n—> " transition

4

d — d transition

(16)

51.

52.

53.
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Metallic character of an element is
mainly due to

(1) low electronegativity
(2) high ionization energy
(3) free valence electrons
(4) large atomic size

In the following process-
A*(g)+B(g) > AB(s)+ E

the energy E, released is called

(1) heat of formation

(2) laftice energy

(3) heat of neutralization
(4) bond energy

The IUPAC name “of the complex
Na, [Fe (CN),CO] |

(1) trisodium pentacyano iron carbonyl
(2) sodium carbonyl pentacyano iron (IT)
('3) sodium - carbonyl pentacyano

ferrate (II)

(4)

trisodium pentacyano
ferrate (I) -

carbonyl
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47.

50.

480

Cl

@Y,  S8ITED  P09N8HTEHN,

Cl" 053855705008 258D

= H)
(2)
3
(4)

(1)
(2)
(3)
(4)

(1)
(2)
3
“)

&3

QAT

CI* 3) D0y,
CI* &%) 80,9
DB

BCl; G308, 851603 [reansdn

0.8 &3
1.2 88
1.8 83
0.0 3

&) FAIPH0.
107" esu
107® esu
16--13- esu

10" esu

KMnO, &%), &agorr & o8

borlefar b

e
- (2)
(3)
()

oo SBI8D
&% 0e0005) HBHES
n— " S88D

d — d 5653

(17)

51.

52.

53.
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o (HEADHS® S0 E (B) ®

08T
(1) Ho50eS Hs0n
(@) ero¥d

(B)  BeogssesHam

(4) 20838

Na, [Fe (GN)5CO] oo, TUPAC oo
(1) BReGaDo 2o SAHF’ 283 EHRS
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54.

55.

56.

dzg orbital of a transition metal is more

stabilized in the following

(1)
(2)
(3

4

Octahedral field
Square planar field
Tetrahedral field

Trigonal bipyramidal field

According to molecular orbital theory

among N, and N}

(1
@)

3)

(4)

The

both are diamagnetic

both are paramagnetic

N, is paramagnetic and Nj is

diamagnetic

N, is diamagnetic and N,

paramagnetic

structure of silicon carbide

similar to that of

(1

@

3

)

graphite
diamond
aluminium carbide

silicate

18

is

(18)

57.

58.

59.

60.
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(0,31, ). 0= NOE - 284,

-]
C.H; - C - NHC H,

The above reaction is

1)
(2
6)
(4)

Cope rearrangement
Claisen rearrangement
Beckmann rearrangement

Fries migration

BET equation is applicable to

(1)
@
(3)
(4)

monolayer adsorption
multilayer adsorption
adsorption at high pressure

adsorption at high temperature

Most of the photochemical reactions
occur from the 7 state of the molecule.

Because

(1)

(2)
3)
(4)

its energy is less than that of
S, state

it has two unpaired electrons

it 18 easily formed

its life time is more than that of S,
state

Intermolecular attractions in a gas can
be neglected at '

(1)

@ -

(3)
(4)

low temperature and high pressure
low temperature and low pressure
high temperature and low pressure

high temperature and high
pressure
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62,

63.

64.

An aqueous solution of ammonium
chloride has a pH of

(1) 7.0
@ <170
3 =170

4 0.0

The units of molar conductance are
(1) m%?

(2) sm™ mol™

(3) sm’

(49 sm?mol’

Cell constant (A) is related to the
observed conductance (L) and the
specific conductance (K) as

(1) A=L-K
(2) A=%
(3) Az%
(4) Az%

The solubility product of a sparingly
soluble salt of the type AB, 1is

4.0 x 107%, Its solubility is
(1) 2.0x10™* mol lit™*-
(2) 2.0x107% mol ]it“‘;i
(3) 1.0x10"* mol lit™

(4) 1.0x10%mol lit™!

66.

67.

68.
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When a weak acid is titrated
conductometrically by a strong base, the
following changes in the conductance are
observed

(1) a slow increase up to the end point
followed by fast increase

(2) a fast increase up to the end point
followed by slow increase

(3) a fast decrease up to the end point
followed by fast increase

(4) a slow decrease up to the end point
followed by a fast increase

Among the following aqueous solutions,
the solution with maximum pH is

(1) 0.1 mHCl

2 0.1m H,80,

(3 0.1m CH,CO0H
4) 0.1 m CH,COONa

The electrode which is not reversible
with respect to H" ions is

(1) Quinhydrone electrode

(2) Hydrogen electrode

(3) 0.1 m calomel electrode

(4) Glass electrode

Transport number of an ion is

(1) the number of ions discharged near
the electrode '

(2) the number of ions released from
one mole of the electrolyte

(3) fraction of the total current carried
by that ion

(4) the product of the ionic
conductance and velocity of the ion


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

LD/7

61.

62,

63.

64.

15 ' 1)

edmdaho 5B B, o ([@HHY

pH 2end
(1) 7.0
@2 <70
3 =170
4) 00

rerd FTED |SSureren
(1)
(2 sm mol!
(8) sm™

(4)

mzs—l

s m? mol ™!

ey B&Jc"ogﬁ.&n (A) 88 (L) SoBasw
.D%g};)‘?’mgé K e G5 DoROEH
(1) A=L-K

. L
@ A'K
K
A=
R-K
@ A=—F

AB, & 28 ooy @HHohe Ko odnd
ESBabE ogan 4.0 <107 @ond T
ESedane

(1)
(2
@
(4)

2.0 x 10 mol lit™
2.0 x 107 mol lit™
1.0 x 107" mol lit™*

"1.0 x 1072 mol lit™

65.

66.

67.

68.

®
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70.

Tl

72,

Kohlrausch’s law says that at infinite
dilution

(1) the velocity of an ion is constant in
any of its electrolytes

(2) the conductance of an ion is
constant in any of its electrolytes

(3) the transport number of an ion is
constant in any of its electrolytes

(4) all ions have the -_same velocities

Ostwald’s dilution law is obeyed by
(1) NH,OH

(2) HC

3 HNO,

(4) none of these solutions

At 365°K pure water has a hydrogen
concentration of 2.0 x 10 mol lit'. The

ionic  profuct this
temperature is

of water at

() 10x10™
(2) 20x10™ "
(3) 20x102

(4) 4.0x10"

Which of the following solutions is a
buffer solution?

(1) NaOH +- NaC(Cl

(20 NaOH + HCl

(3) NaOH + CH,COOH
(4) NaOH + NH,OH

(22)

73.

74.

75.

N GET IT ON
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The pH of 0.001 m NaOH is

1 2
@ 3
(3) 12
@ 11

The pH of aqueous solution of NaCl is
7.0 while that of CH,COONa is not 7.0.

This is due to

(1) incomplete ionization of
CH,COONa

(2) hydrolysis of CH,COO~
(3) large size of CH,COO~ ion
comlpared to CI-

(4)  low ionic conductance of CH,COO"

compared to Cl™

The e iint % H, (g) + Hg,Cl, ()=

H* (aq)+Cl™ (aq)+Hg (s)
occurs in the following cell
(1) Hg(s)/ Hg, Cl, (&)
| KCI (solution) |Hg (s)

@ B H, ‘(g)|HCI (solution)

Hg,, Cl, (s)| He (s)
(3)  Pt|H, (g)| KCI (solution)
[Hg, Cl,(s)| He (s)

(49 Hg(s)/ He, Cl, (s)
| HCI (solution) | H,(g)| Pt
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69. E°Sof DSy (55650 @50 20550
3
(1)
By, DD z\gdorf" Doewos
SOITRE TTES T @) HHBBIE T
_ (ﬂaﬁom Doenos

(3) a¥ ooy @D K)oa)§ &R
2 DeBBR0S D Qoo Hoewos

3 4) o QOire ey 288  eown

DOLIPON

9958 99 DALBRD HB0HHE
(1) NH,OH

(2) HCl
3) HNO,

(4) o deren 3638 580w

70.

71 365°K 3§ D medn @y, P&
BATR0 s 2.0 % 107° mol lit™,
o GRS 5 DS e0fr-d¥ 022500

(1)
(2)
(3

(4)

1.0x 107
2.0 x 1071
2.0x 10712
4.0x1072

808 T0S° 2956 [Todeain
(1) NaOH + NaCl

(2) NaOH + HCl1

(3 NaOH + CH,COOH
(4) NaOH + NH,0H

72.

D BFIESPD ¥ ear

(23)

73.

74.

75.
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0.001 m NaOH QAoos); pH

@ 2

(2)

3 12

4 11

NaCl =0 |90y pH 70 592

CH;COONazo b0 pH 2e0d 7.0

550, B8 580
(1) CH4COONa ar8%om escHdE8eason
- ol TN

(2)
(3)

(4)

CH,CO0™ = 93 Dok

Cl &%) CH,CO0" 383750 &6
Cl™ 8%y CH,CO0™ escsro¥ Tirss
B,

2 He (50 Hg,Cl, ()=
H* (0 )+Cl™ (wo )+ He (50%)
285K LD
(1) Hglo)/He, Cl, ()

| KCl (o )| He ()
Pt|H, ()| HCl (&)

|Hg2012(2|33)| He( )
Pt|H, (37)| KCl (=)

|H32012(§i’)‘ Hg( :D)

Hg(s)/ He, Cl, (%) .
|HCL(z~)|H,(20)| Pt

R 655

(2)
(3

(4)
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78.

79.

(24)
For a given compound the spectral lines | 80.
present in Raman spectrum are absent
in IR spectrum and the spectral lines
present in IR spectrum are absent in
Raman spectrum. - This observation
indicates that the molecule
(1) 1isapolar molecule
(2) isa non polar molecule
(3) has centre of symmetry
(4) has axis of symmetry
81.
The number of 'H-NMR signals
obtained for the following molecule
under low resolution —
CH, ~CHy =D~ CH, - CH,4
iy 4 :
2 4
3 b
(499 6
For a molecule to be IR active its 82.
de
1 i)
(1) A
du
2 ==
(2) g
3 a=0
@4 wpu=z0
Among the following, the alkaloid with 83.
optical activity is
(1) quinine |
(2) narcotine
(3) papaverine
(4) cocaine

GET IT ON
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Anthracene is prepared by treating benzyl
chloride with

(1) Na

@ AlCl

(3) Cu

(4) zﬁ/NaOH

The most reactive position of chrysene
towards electrophilic attack is

1 2
2 4
(3) 6
4 8

Bromination of phenanthrene gives

(1) 1-bromophenanthrene
(2) 9-bromophenanthrene
(3) 6-bromophenanthrene
(4) 9-bromophenanthrene
is the building block of all
terperiods. -
(1) isopropyl group
(2) isoprene unit
(3) ethylene
(4) putadiene
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CH; -CH, -O-CH, -CH,, 'H-NMR
3F 3e206° BKy); BRrergESS® DG)ED by
KJoaJé
D
2
3)
(4)

[on TS | B
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84, In « —Terpineol, Oxygen atom is | 87. In strecker synthesis of amino acids

present as a — 15 _treated with NaCN

(1) a ketone
(1) keto group (2) an aldehyde
y (3) an alcohol
(2) secondary alcoholic group (4)  a carboxylic acid
(3) tertiary alcoholic group 88. At the isoelectric point, amino acid has

(I) maximum solubility

(4) aldehydic group (2) maximum electrical conductivity
(3) maximum optical activity

(4) maximum reactivity

 85. Camphor, with the molecular formula | 89- Molecules with three identical chiral

centers have ———— stereoisomers.
Cl{)HmO has (1) 3
; : 2 4
(1) two similar chiral centers @ 6
' . ; (4 8
(2) two dissimilar chiral centers
90. Which of the following compounds yields
(3) one chiral centre ; a racemic mixture with Br, ?
(4) three chiral centres @) \C = 1
alk | & Yo
. H\ # CH, 5
(2) £ = B
86. p-Carotene is H/ s CH,
(1) ~optically inactive CH\\ /CH3
- (3) G o= 42 A
(2) an acyclic compound . H/ Bihe o)
(3) optically active H % /COOH
(4) C =0

60 " a bibudic empsand - Hoo”
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91. The following experimental data is | 96. The activation energy of a reaction can
obtained for the reaction A + B —» P be lowered by
Initial rate (1) decreasing the temperature
[Alo [Blo L (2) 1increasing the concentration of the
mol 17's it
reactants
0.016 m 0.02m 1.0 = 10_3 (3) addj.ng a Catal}’_st -
0.016 m 0.04 m 2.0x1073 (4) by increasing the temperature and
0.032 m 0.02 m 40x10° increasing the concentration of the
: . reactants '
0.032 m 0.04 m 8.0 x 1073 ’ _
The rate equation for this reaction is : e fT};f .:emf oft'the_ cell involving the
) r=k [A] [B] ollowing reaction
2Ag* (1.0 m)+ H, (1 atm) —
@ r-K[aF[B] U g (Lo
@ r=K [A] [B I— is 080 V the standard oxidation
4 r=K|Al |B potential of silver electrode is
(
() -080V
92. For a reaction to occur spontaneously (2) -040V
(1) A S must be negative (3 +080V
(2) A H must be negative (4 +040V
3 (AH-TA S) must be negative - 98. Given that
(40  (AH + T A S) must be negative 1, +2e —» 21 ; E* =0.54 V and
= & E =109V
93. The entropy change of an irreversible B? :ii:ffr’ ];: A lteorient
S - select the correct sta
proo?szzs e (1) I, canoxidise Br,
(D % (2) I, can reduce Br,
- (3) I, doesn’t react with Br,
2 T (4) cannot be predicted
3 G xT 99. In a chemical reaction, all the reactants
(4) L8 and products are in the liquid state. For
: ' this reaction
94. The effect of temperature on heat of (1) AH> AE
reaction is given by oy~ AH < AR
(1) Joule-Thomson coefficient (;) Al i AR
(2) Gibbs-Helmholtz equation 3) iy _
(3) Kirchoffs equation (4) cannot be predicted
(4)  Vant Hoffs isochore 100. The electrode potential of a calomel
95. The half life period of a certain first electro;:lle depends OI} 3 i
order reaction is 20 mins. The time (1) the a;mourclit oL mexcury taken n
taken for 87.5% of the reaction to be kg SIS RUEID :
completed is : (2) the amount of mercurous chloride
(1) €0 min taken in the electrode
() 40 min ' (3) the concentration of the chloride ion
(5) 30 min (4) the amounts of mercury, mercurous
(4) 120 min chloride and Cl~ ions
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4] . S TDNB0
0 0
(mol 17571)
0.016 m 0.02m 1.0x10°2
0.016 m 0.04m 2.0x1073
0.032 m 0.02m . 40x1072 97.
0.032 m 0.04 m 8.0 x1073
- &6 D85 BooE); Bew HBEGeEHN
) r=K tﬂ [B]
2) r=KJ[A}[B]
3) r=K|[A][BF
4) r=K|[A} BT
92. 2. B Kotior etk 8w
(1) AS PVEFEE00Y 06
(@ A H anerdghnondosre 98.
3 (AH-TAS) RVETHEDH0GED
(4) (AH +T A S) ma‘éégmon@omé
93.  eRE),He3an FEANS JoiEs™h Brdy
q
1 Arev
(1) T
q.
(2) Lrreu
99.
(3) q,z: xT
(4) QErrev X T
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2030 0.80 5°. Desh Jo gl @ny), (38
es8B5 aﬂnﬁu@oﬁeg dend
(1) -0.805"
@ —-0405%
(3) +0.805"
(4 +0405°

I, +26 21" ;E" =0.54 S’

- Br, +2e - 2BF; E* =1.09 5%

B0 &4 (508 TVS” HBELD DD
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(2) I, Br, % 500586500 JoBosKess |
3 I, Br,& D5 2D
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(1) AH>AE

(2) AH<AE

(3) AH=AE
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~ (30)

The most stable oxidation state of thorium
18

(1) +6
(2) +4
@3 +3
4 +2
Thorium oxide mixed with a small
amount of emits brilliant

white light when heated in a gas flame.

(1) Cerium

(2) Sodium

(3) Zinc

(4) Aluminium

What is the number of @ and # particles’

emitted in the following process?

238 206
U™ —— &Pb

(1) 4a particles and 6/ particles

(2) 6a particles and 64 particles

(3) 8a particles and 6 — f particles
(4) 8a particles and 4 — f§ particles
The following rays have greatest
penetrating power.

(1) «-rays

(2) p-rays

(3) y-rays

(4) X -rays

The observed mass of ;He nucleus is

4.0028 amu. The masses of proton and
neutron are 1.00732 and 1.00866 amu
respectively. Calculate the mass defect.

(1) 0.02916 amu
(2) 0.03221 amu
(3) 0.02234 amu
(4) 0.03972 amu

- 106.

107.

108.

109.

110.
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The magnetic moment of Fe®* jon is

(1) 2.83BM
(2) 3.87BM
(3) 4.90 BM
(4) 5.90 BM

In general, the'magnitude of the crystal
field splitting in tetrahedral complexes

is ——— that of octahedral complexes.

(1) greater than

(2) lessthan

(3) equalto

(4) equal to or greater than

[Cofen),CL, |

(1) shows optical isomerism in the cis
form

(2) shows optical isomerism "in the
trans form

(3) shows optical isomerism both in

the cis and trans forms
doesn’t show optical isomerism

(4)

When a solution of BaCl, is added to
aqueous solutions of

G [Co (NH,).Br]SO, and

(i) [Co (NH,). SO,|Br

(1) both (i) and (ii)) form white
precipitates

(2) (i) forms white precipitate

(3) (i1) forms white precipitate

(4) both (i) and (ii) do not react

Separation of lanthanides using ion-
exchange method is based on

(1) the solubilities of their oxides

(2) the basicities of their hydroxides
(3) the sites of their hydrated ions

(4) the solubilities of their hydroxides
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104.

105.
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DVIED @ B 4 Koo Pogy?
(1) 4o Sevreo S08a5» 64 Sewen
(2) 6a Sezren 080w 64 Eeren
(3) 8a Eewren B 6 - F Leren
(4 8a Sewew 0805w 4 - B L

s 1808 Stere TWNHIVAD [eETHHw

eﬂégﬁgﬁ'}n

(1) a-88sen

(2) p-88eren

(3) y-88eren

4 X - 8eren

s He Bogssaw oY (0"3 4.0028 amu e
AR0D0DEIB. (e Do8asn QATPg(eR0
(BSgore0  SHI™ 1.00732 Ho8asw
1.00866 amu &0 (555072 S50

(I) 0.02916 amu
0.03221 amu
0.02234 amu
0.03972 amu

(3)
(4)
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(3)  (ii) Bosd o5 808
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(32)

Two metals can form a complete range of
solid solutions provided

(1) they have nearly same melting
points _

(2) they have same crystal structures

(3) they have similar densities

(4) they have similar chemical
properties

A catalyst in finely divided state is more
efficient because

(1) it has large surface area

(2) it has more number of particles
(3) it has more energy

(4) it has more entropy

The enzyme used in the conversion Fat
— Glycerol is

(1) Zymase
(2) Trypsin
(3) Lypase
(4) Pepsin

Silica gel which is used to control
humidity works on the principle of

(1) Absorption
(2) Catalysis

(3) Hydrolysis
(4) Adsorption

A catalyst increases the rate of the
reaction by

(1) increasing the energy of the
reactants ;

(2) decreasing the activation energy of
the reaction '

(3) increasing the number of collisions

between the reactants
decreasing the energy of the
products

(4)

116.

117.

118.

119.

120.
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The number of atoms in the unit cell of a
body centered cubic crystal is

(1 1
2 2
3) 4
4) 8

The miller indices of a plane of a cubic
crystal which intercepts the crystal axes
at 2a 3b ¢ are

1y 8 2 &
2 1 3 2
3) 2 31
4 3 21

The technique of electron diffraction is
useful in the determination of

(1)
(2)
(3)
(4)

crystal structure

energy of the molecule

bond lengths of the molecule
moment of inertia of the molecule

The distance between two successive 111
planes in a simple cube with edge 50 pm
i_s.

(1) 50 pm
@ %%pm
(3) I 3% pm
(4) —?pm

Madelung constant depends on

(1) the geometry of the crystél lattice
(2) the density of the crystal
(3) interplanar distance

size of the unit lattice

(4
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121,

122.

123.

124.

125.

The wave nature of electrons is
exhibited when they

(1) ionize any gas

(2) are deflected in the magnetic field
(3) are diffracted by crystals

(4) are emitted from the metals

According to Bohr model of hydrogen
atom, the following quantity is quantified

(1) angular velocity
(2) angular momentum
(8) linear velocity

(4) linear momentum

The splitting of energy levels of
electrons in the atoms in the presence of
magnetic field is

(1) Raman effect

(2) Photo electric effect
(3) Stark effect

(4) Zeeman effect

If 4, and 4, are the wave functions of

two systems 1 and 2, the wave function
of the combined system is equal to

(1) 4,+4,
(2) 4,-4,

3) 4,-4,
(4) 47 +4;

The hybridization on carbon atoms in
butadiene 1s

(1) sp® and sp®
(2) only sp®
(3) sp, sp’ and sp®

(4) sp® and sp

(34)

127.

128.

129,

130.
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126. Which of the following is not aromatic?

(1) Pyrrole
(2) Pyridine
(3) Pyran
(4) Furan

Pyrrole does not undergo

(1) Nitration

(2) Sulphonation .

(3) Halogenation -

(4) Friedel-Crafts reaction

Isomeric carbohydrates which differ in
configuration on C, carbon atom are

 called

(1) Enantiomers
(2) Epimers

(3) Anomers

(4) Oligomers

Friedel-Crafts acylation of naphthalene
using nitrobenzene as solvent yields

(1) 1-Acetonaphthalene
(2) 2-Acetonaphthalene
(3) 1. 2-diacetonaphthalene
(4) 1, 3-diacetonaphthalene

Conversion of phenyl propianate to a
mixture of ortho and parahydroxy
phenyl ethyl ketones is called

(1) Wittig reaction

(2) Perkin reaction

(3) Beckmann rearrangement
(4) Fries rearrangement
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131. The intermolecular hydrogen bonding in
a hydroxy compound can be identified by
recording its IR spectrum

(1) at different temperatures
(2) in different non polar solvents
(3) at different concentrations
(4) 1in the presence of CS,
132. The number of signals present in the
ESR spectrum of “NH radical is
1 2 '
2 3
3 4.
4 6
133. Diasteriomers have
(1) Identical physical and chemical
properties
(2) Different physical and chemical
properties
(3) Different chemical but same
physical properties
(4) Different physical and similar
chemical properties
134. Which of the following will form a meso

compound with Br,?

CH H,
o - R

B \H
CH,

@) 5N c\{{
n,e” H
CH, H

& . w=d
O cw,
H,ON\, / H

@ = B\

ks COOH

H

136.

137.

138.

139.

140.
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The number of optically active isomers
of HOCH,(CHOH),CHO is

(1) %
(2 8
(3) 16
(4) 24

Which among the following undergoes
Gatterman-Koch formylation?

(). p—GH,
(2) ¢-OH

(3) ¢-0CH,
(4 ¢-N(CH,),

Which of the following molecules is not
microwave active?

(1) HCl
@ COo

@ N,

(4 CH,CI

The fluorescence emission spectrum of a
compound gives the following information :

(1) energy difference between S, and 7]
(2) energy of vibrational levels of S;
(3) energy of vibrational levels of T}
(4) energy of vibrational levels of S

During electronic excitation

(1) dipolemoment of the bond is
constant

(2) polarisability of the compound 1is
constant

(3) spin multiplicity remains constant

(4) energy remains constant

The distance between two successive

lines in the microwave spectrum of a
diatomic molecule is proportional to its

(1)

(moment of inertia )

(2)  (moment of inertia)™
(3) (moment of inertia)]
(4) (moment of inertia)E_
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141. In the dehydration reaction of
I
CH, -C-NH, — CH,CN

the hybridization on carbon changes

from

(1) SP -»SP?

(2) SP?—SP

(3) SP? - Sp®
(4) SP - SP?

142. Raney Nickel reduces furan to

(1) 2-hydro furan

(2) 2, 3-dihydrofuran
(3) 3, 4-dihydrofuran
(4) tetrahydrofuran
143. Cellulose contains
(1) D-—(+) glucose units joined by
o -glycoside linkage '
(2) D-(+) glucose units joined by
- p -glycoside linkage
(8) D-(+) glucose units joined by
both & and f -glycoside linkage
(40 D-(+) glucose and (+) maltose
units joined by @ and f -glycoside
linkage
144. Proteins produce yellow colour when
treated with conc. HNO,. This test is
called '
(1) Ninhydrin test
(2) Millon’s test
(3) Xanthoproteic test
(4) Biuret test
145. Formation of camphor from e -pinene

involves the
(1) Wagner-Meerwin

rearrangement.

(2) Beckmann
(3) Neber
(4) Cope

(38)
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146. Geranial and Neral are

(1)

Optical isomers

(2) Geometrical isomers
(3) Tautomers
(4)  Not isomers

The NMR spectrum of CH,D - CH,CI

consists of

(1) a quartet
(2) two singlets
(3) two triplets

4

two doublets

In Haworth synthesis naphthalene is
condensed with in the
presence of AICl, to obtain pharanthrene

(1) acetic anhydride
(2) succinic anhydride
(3) phthalic anhydride

(4)

maleic anhydride

The peptide bond in proteins is

(1) planar and wusually in trans
comformation

(2) non-planar and in trans
conformation

(3) non planar and in cis conformation

(4) planar and rotates between cis and

trans conformations

In a nucleoside, the nitrogen base in
linked to pentose sugar by

(1) hydrogen bond

(2) phosphodiester bond
(3) peptide bond

(4) N-glycosidic linkage
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